MA 109 — College Algebra . .
EXAM 2 - REVIEW Spring 2011 Name:

Sec.:

1. Approximate the solution to 82° + 1222 + 6z + 1 = 5.
Possibilities:
(@) =~ 0.1713
() = ~ —0.0770
(c) x~0.1775
| (d) =~ 0.3550
(€) x ~ 5.0000

entecas %F(x /(><+u}> + |

(OY\Sc_g{_oLemQ:j) we have l ><+3| >4

2. Suppose you want to graph (y — 1) (z + 11) = z on your graphing calculator. What should you
enter into your calculator? oy -1 = =X X
X+ iﬁ TOXHI Fl
3. Find the inequality that corresponds to the nugpber line below.
AN P
e
-10 8+-6 -4f3/2 00 2 4 6 8 10
o Jooind = "2+ -G
Possibilities: mlaFdlﬂé - =3
(@) |z +3| <4 D@+CAWE7FM B
b) |z —3| >4 e *\**thfﬂ—%
(b) |x |> So {‘ﬂe &\Siaﬂ ce f/am X ‘a - s reater €h
| (©) lo+3]>4] Jreeter Then o
(d) |z —4]>3 l
X —(-3
© |z —1] <3 -3)] “

4. Solve the inequality z* — x — 39 > —9. Write the solution set in interval notation.

Possibilities: X - x-39 > -9
(a) (—00,~9] X%-x-39+9 2 7T+9
(b) [=9,00) X?-x -30 20
(C)( o0, 6 [5,00) (X—G)KK+S_)W
(@) (5.6 Critical Mambers (s
(@ (coo,BUBo0) — o “embets (x-C)(x45) = 0
X-C=0 X452 0
X =G X =—-<
1 Aﬂjwef' (VDO/Vjﬂ U[@,oo)
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5. When you are traveling in the mountains, you will often see signs about the grade of the road. If
you are traveling downhill and you see a sign indicating that the road has a 7 percent grade, then

the slope of the road is 1_— Suppose you are traveling downhill on a road with a 5 percent grade.

If your horizontal distance has changed by 800 feet, how far have you descended?
)

-0.05 = | _ F{SL_ X
50‘3’3 __(un — ?‘o_@
5%
—0.05 = X_
COO
Call this  —» > ?oo(-o.or)=(éﬂ)m
:/XI( Juc’na}
X=— C{Oj[é'cf
k——
Yoo Ol descend o feet

Yo

Possibilities:

\ (a) 40 feet
(b) 140 feet
(c) 190 feet
(d) -10 feet
(e) 90 feet

6. Suppose you want to graph 4z — 2y + 14 = 0 on your graphing calculator. What should you enter
into your calculator?

Ix-Ry+ld=0

A x ~Du+14-4x =0 ~ 4y

~edu 19 = = Ux
‘o?ﬂﬂ’*I»\L{“L&x Y
:-Clx 19

% — Qe 15

_ *‘-| _
gt

Entec inéO}aur calcdlodor S (- 4xx —lq)/('.iﬁ

2
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7. How many solutions does the following system of equations have?
67 + 27y = 36 2% 9. 4qu- 12
—dx + 18y = 24 5y5a 7 Rx +In =1
Possibilities: 24 12 4
. weeex
(a) No solutions Gx+a3-d-g,
I (b) One solution \ @G (C’/ %) Cxv3c-36
i Gxe3c-3C =3¢ -3¢

(c) Two solutions Cr-o

(d) Three solutions %g =2

(e) Infinitely many solutions x=zo
8. Let f(x) = 242 + 6. Find w

Possibilities: |i'_(am?(4‘|€ 7[&4\\ R (ceh) 4 € (x+h) = R () | (et} + G (x+h)

(a) 212 + 6h 2Tkt hath®) 4 Creh=2( 2kt h?) + CxaCh

= x +("|><h+.>7h + Gx +Che
(b) —4x —2h -6 7( jE N
2h2+6h M: (QX +U(><\’\+ozh +G¥+GV\§>(CQX+QX)
@ = n
I
() dr+2n 16| @ YA G —T e
ﬂh
dzh + 2h* + 12z + 6h

(e)

h :qm M)
e

) x +72hth

9. Suppose you need to solve a system of equations in which one equation is y = \/z and the other
equation represents a line. How many solutions could your system have? Zey 0,0ne, gr

[ f-co
10. Solve the inequality. £ceyo
T+ 8 2 k’
Possibilities: C it cal /\Jumberg -
(@) [-8,7)

- X+%=0 or x-%=0
° Jest
(c) (—o0, =8 U (7,00) = Toint > —F S\ar\
(
[

o 3 — — —
d) (-8,7) . "? .n S 7T + s
—3 O —
_ —+ — A~
(e) 8, 7] Mote:incl lude — ¥ because wéhff malces —_—
Zhe tumerctor (So €he ﬁac‘homﬁ vel :
€o %ero\}cr\ cxclude I bECousj ! X t T + v
T s Wot n thle domoin o# “la CxPressign
X+E
< —3 3 Answer: (»oo,*}?]U(q,ocb
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11. Solve the inequality.

Possibilities: X+2 =0

[eXg

12. Carol has $4000. She invests = dollars at a simple interest rate of 6% and the rest of her money

at a simple interest rate of 5%. After one year, the total interest earned on these investments is
$215.00. Which of the equations below would you solve to find z?

Possibilities: X=amount inveséed ot G 75

=a t investe o
(a) 0,062 x 0.05(4000 — ) = 215.00 3~ 7Ot Nvesisd ot 573 solvefor i o = qooo
(b) 6z + 5(4000 — x) = 215.00 lcoﬁal Amaunt OTFWM&; Xtu= %O/:
@ L 2000-T o alculate Tnterest
6 . -:rfl ferest on G:/b @ccount = apgung X f’crcem.‘ = X¥d.0
{ (d) 0.06x + 0.05(4000 — ) = 215.00 | T 0N S0 account = amount e rcent = 5 g oi_‘:g*“x
4000 — loéal interest corned = 25 ao —7 T
(e) 006 + 005 = 21500 O'OGX-\‘-O,DS— substitute,

9 =5
0.06x +0.057(qopo 7)<) =2/5

13. Solve the inequality.
(r+4)(x—2)>0

Cridical Mambers:

Possibilities:
(@) [~4,2] (e )x-2)=e
(b) (—4,2) X+9z0 or Xx-2-o -
(C) (_007_4)U (Qa OO) X X=X A
(d) (7007 OO) -3 o 2
_ _ cemﬁﬁ%@ & B Sy /
) (e) (—o0,—4] U [2,00) —q 2 Answer : ("OD/"“‘]L/IQ/@)
4
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14. What quantity, z, of a 30% acid solution must be mixed with a 25% acid solution to produce 2500
mL of a 26.4% solution?

chnéfﬁ —E{alAmaum{: X&=o?5_od % 0.2 - 25, -

Possibilities: Qoané g =-¢2
x é%\ 4;_& 3 /'L':'a} Amaant: .30 +O. 35 en = CCo—> O.3Bx+0 2570 = Qgg
(2) 500 mL \\\\/f/ ————=y" o
0.05x+04 = 35
(b) 900 mL | St 3
SO vt

o
icj 700 mL O.05=35

d) 600 mL Ameunt of Acid: s CT
m . Nelum

( ) /4({0'/;4“ £he 30% acid Solutvep= Gwoant *PPVC’“L‘: XX 0.30=0.30x

(€) 800mL  Acid Fim the 2579 acid Solutionzamourt K pereent = i K0.25= 025 X= Joom C

Acid from €he 24.9% acid solution = AMount¥ percent = o500 ¥0.2¢4= CCO

15. Solve the inequality.

Criticel Mum bers - x—6

Possibilities: X+5=0 o¢ x-¢-=0

16. Solve the inequality and graph the solution set on the real number line.

o L g
% == 15— 22 > 11

@ /SR 52 - 15
Possibilities: -2 x2 -4

@) A

| |
I I
-15 -10 -5 0 5 10 15
®) Attt
-15 -10 -5 0 5 10 15
e L e s s s o o
-15 -10 -5 0 5 10 15
(CNE S 8 8 S 0 . 5 L s s s s o
-15 -10 -5 0 5 10 15
| @\ttt
-15 -10 -5 0 1a 5 10 15
5
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17.

r—2 ifz>3

f(m>{a:—|—2 ifz <3

Find f(5). St |
Possibilities: =P Ddcrmint L«Jkiclf\_EXP fesSsion. €90 e
S o S |
(a) g %5 S 53.,, No ”l SQC‘)O\nf(th X+a
S S>3 S
(b) Both7and 3. — S Ves O S0 ose x—g
,hefeﬁ(e 7[_ .
(C)21 ) /5):5_&:3
(d) 7
(e) 3

18. Let f(z) = v/8 — . Find the domain of f(z).

Possibilities:

(@) (~8,0) Must have  §-x 20

b) (=00, 8 ?‘X*Xioirx
| © (00,8 9> x

(d) (_007 _8) U (8’ OO) %
(e) [Sv OO) g
(“os, 5

19. Suppose you need to solve a system of equations in which one equation is y = |z| and the other
equation represents a line. How many solutions could your system have? Z2r0, 6ne  fLyo, o

nTinite

20. Solve the inequality and graph the solution set on the real number line.

lv =3 <6
Possibilities: C The A
A Q Edlﬂam ﬁgm XfOS is |<55 f'ﬂcn ore uﬂl
AR it +
(@) | FH et *~—t— to ¢
-10 -5 0o 35 10 z
(b)
—10 -5 0 5 10 =
(c) HH——— e
—10 -5 0 5 10 =
(At
—10 -5 0 5 10 =z
(e) HHH————+—t+—t—t—t—t+t++—+—e—— +——
—10 —5 0 5 10 =
6
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21. In the graph below, the solid graph is the graph of y = f(z) and the dashed graph is the graph of
y-= g(z). Which of the following statements are true?

=
~ @ © D

g

P P KB G

(*+] N

5

o D f(0) < g(0) o @ f(1) =g(1) ' b f(2) > g(2)
rt 0" K (( "

-3 -5 ¢ -C T2 7A

Possibilities:

[@) (D), (I1), and (I11) are all true.)]

(b) Only (D) is true.

(c) None of the statements are true.
(d) Only () is true.

(e) Only (I) and (III) are true.

22. Find all the solutions of the system of equations. T
Lo Solut;
ON S
See coor K one {—23-r+y—4 (7025) J
— 10z —y=—44 xQ -
NMex & ?QSQ ) Y ! ng (57 |q>
23. Letf(x)z|:1:—4|.Evaluatef(7—9).:f/_02j — J -2 (_||_ , Q’_/@ f
7
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Sotue 4l
:kiQCQ _5>( —+ L;\>—_ L} i Q}D( ﬁ—_ ‘f -|..3,
X 4
X "'O—;u:_'%}q ilﬂ<+
L AN i 1S 18 L
D hsHfbatio > ¢hod g e Egcation 5
X;L— Ox - <—!+"<x—\}=_"f(+ ister hute
=2
X-F=0 & =0 X ~10x-49—3x =-49% jlmﬁlljr:\)
X=§ x=5 | Back Shhstituh X =13x - 4 = -44 4de) 44
O 44308) | y=auzer) | o Find o e 3ae - G449 =g dy S, 1;}5
L YERTY 2 - <
2 AT X “13x +40= O Factar
W=7 Q=1 z
> X =Sx-fx+%0=0Q
(3,23 (5 X(x-5) -F(x-5)=0
6(‘ ?) k—J—_) =0 &ro ﬁochd— Ru?
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All of the solutions are integers.)

24. The graph of y = f(z) is shown below. Use the graph to find the solutions of f(z) = 0. (HINT:

25. Solve the inequality.

Possibilities:

Cridical AMumbers:
(%+% )(x-1)=0

(x+8)(x—T7)<0

/|HSL\JEf: (*57/:})

26. Let f(x) = 4z + 7. Find

flx+h) - f(x)
h

) Conaugwély 7[(a<&||]~ (x __@x+‘}h+})—(<}x+q) %‘#q
VLZ =

I Compae: Fxsh)= 4 (e h) 43 = 4x 2t +3

b

I
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27. Find the interval on the Celsius scale corresponding to a Fahrenheit temperature between 30° F'and
110°F. Recall that the relationship between degrees Celsius (C) and degrees Fahrenheit (F') is

. . 9 - —
given by the equation F' = EC+ 32. F-3a- ?—'C = 2 (F—Soz)

Possibilities:
Selve Jor ¢

; j_[':-sarc I/F’CZEOO
The temperature is between about|—1.11°C'land s = % (30-32 | .5€

L£2) -0
|

(b) The temperature is between about —3.60°C' and 140.40°C". :F{ G
3 o o T s =
(c) The temperature is between about 60.40°C' and 204.40°C. _]_f F= 10 hen. (...
(d) The temperature is between about 111.60°C and 255.60°C. <
(e) The temperature is between about 86.00°C' and 230.00°C". a E(' 10 _3‘2) = —é— :':—? = _%0
=493.33..

28. A ball is thrown straight upward at an initial speed of 96 ft/sec. From Physics it is known that,
after t seconds, the ball reaches a height h feet given by the formula

h = —16¢> + 96t.

When does the ball hit the ground?
Possibilities: H@\SW 5 zero Whene bell hits 4he 5(0“”‘)

(a) 3.00 sec O=-1¢e?+90¢ - e
(b) 144.00 sec O=-1(¢[e- G] r\je_oruuzr\{-l&) “he | is ot ﬁfow\c)
mm| ‘ IGVel Q\r\ev\ ‘éfmg s at 2evo SCCOV\A
(d) 196.30 sec —lif =0 ¥ £-¢=0 ("“‘hé"al) Gnd Six Scconds
—le ~1¢ +C e °

(e) 4.30 sec
€= Osecand 4= C Secong

29. Kayla earns $8.50 per hour. If she works more than 40 hours in a week, she is paid time and a half
(1.5 times her regular salary) for every hour over 40 hours. Her gross pay last week was $403.75.
How many hours did Kayla work last week?

UU&E HOxF.5 = 390. Since Kc\ﬂlo\ made 403 .F5 last Wee k Sh&
M(ASLL hﬁ\/g L,JO(RQ‘CJ More 'él’\(:m C/O Nours .

K%'Q s ?Qﬁed € ime Gnol o l’\G|7C ﬁrcupr €ime = |5 x %/~3_;|:2.:}5_

ate oféh@ﬂ%‘ojjy) Ho335 -390 =§(¢3.35 s over €ime Pan-
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30. How many solutions does the following system of equation have?

z=—-1d—— Verdica| [,
P?HyPz4 Gt x=-
Possibilities: Citele centered ot <he Qrigin

of tadius 2
(a) No solutions

(b) One solution

T-(C) Two solutionﬂ Two —
(d) Three solutions solutions —

(e) Infinitely many solutions \

31. How many solutions does the following system of equation have?

rT=-24 — \/GY{\CC\[ line
?+y?=4 at x=-2

Possibilities: Circle centered ot €he origin

o faa’(us 2
(a) No solutions

(b) One solution

(c) Two solutions Ohe.
(d) Three solutions Solation™—s

(e) Infinitely many solutions

32. A chemist has two large containers of hydrochloric acid (HCI) solution. The concentration of
the acid is different in the two containers. She blends 100 mL of the first solution with 300 mL
of the second solution to obtain a solution that is 10.2500% acid. She blends 300 mL of the first
solution with 200 mL of the second solution to obtain a solution that is 12.0000% acid. What are

the concentrations of hydrochloric acid in the original containers? | (o /¢ 90 0
SeeworK on dexté Daae ' °
La——]
L fx+h) = f(2) See wark an
33. Let f(z) = 32* + 22+ 1. Find ———————~ —
flz) =32%+ 2z A Sx+3h+2 follow Paae
10
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:&5‘2 I——Gf.‘Xo/m\OQ— "él’\Q Con centration o/7C acid mn 7L|r'lp rst Covteinelr
[ et {d."/m be ¢he concenfration m[ acid in fhe secind container

N
A

Fan ind C ne Eucn‘é —|—l~ (@]

| 99m2 3o00mt \J99me ook
L =) — -
@ <% _1%} );E kpnbﬁo @ x o N\ 7\(/;/)— \775 %
N\ ey
| . LOG 4300 =< pamt l S06+00 = SHam L
} HoOwm L )\ gomlL 5
@ 10.295 %% @ |
- e
Countina Arir LDe }‘lnu_ KSL,«h'l'(\tJ_3 f\‘ci De ]"Iaua
|’\=' ——e_;l—f +IOT-\ 'élfe ’é’:'?_(ars'l'(\ hAN
005 + 300 4= 0.1025(400) S00x | +4 0o = .12 (sos)
00 % + 300 us 4| 500% 4200 b= G
, hE’fe;l:re (98] A.}’e’r‘) { So ,r/p 74}1? Sustenm /oo —+ gO (:): (\”
Z 300 x + Q00 o zko
J
AN ]L3
e b"\w - -
|00 % + 30 iyzq > S300x — 900 ,=-123
20 x 4200 N G 300x + Q00w = (O
Eliminetion Methad -+ = =C3  Divide b -0

ViU
w

0c)| badk sub Hute nto ngl atign |

00 x + 300 (0.09)= 4

[0Ox + X+ = YI whtedct| Q%
(00x+23 2% = 41 =23 Simp iy
00 x = 14 Dilidd b 10D
S~
IDQ/)«’ - I_i [ ?IM’F\‘S
Ao 00
x/; Oilq

_/OV\Clui'on‘ The -t[::r+('0h cinerSconCentration m(-a l'r) s 4es
1Cac(cJ s 9%

o

Ahl'lc “he Scranr) contelner 'S concentratio
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#33 |
+ 4
IS_CC:’M'PW‘Q /7[ xh) = ?()(-f—k\J 23 (x+h) +|
= 2\/><+h\, xth) 4 2x< +2ht|
= 3(x%ixhthxah?) +2xc+20 £]
3 S(Xz-fjxl’\'("ﬂa) + R x+2h+|
= 3% O+ 3h? £ Qc+ah +1
C nchi_ ent , -f/x-»h _1(>k) _L%xz-eé h 4 3R%+ 7><+?L+|\I -( & 1dxt )
= = - b o
= B Cahe3n e Tar Lh RL =32 =Ny
—
n
= Gxht 3W%+2h - W (L +-§h+;l
N M
= [Cxe3he 2
University Of Kentucky > College Algebra Fall 2014 > 13/19 review2.pdf (13/19)

Review Sheets



34. Let f(z) = 3+ 6z — 2. Find f(u +v).

Possibilities: 7E(u+v\= S+ Glery) — (u+v);‘
l(a)3+6u+6v—u2—2uv—02| T3t Curly - () (v

(b) 6+ 6u + 60 — u — 2uv — v2 i R TSN AVE A VRV \/Z)
(c) 6+ 6u —u®+ 6v—v2 = 3+ Cu+(pv"(uz+o?uv+\/a)

(d) 3+ 6z —2?) (u+v)

=34 6u+ — U -Qu-ul
(e) 3+ 6u—u*+ 6v—0v? wtlv Humv

35. Let f(z) = vz — 2. Find f(a +b). 7ffa+b\=\/(a+b) -2 = \Va +h -2

36. Let f(x) =

\/%. Find the domain of f(z).
Possibilities:  pJeced \/X—-3 # ond X-3 >0

(@) (=3,00) Mote VX -3 =0 means X-3 4320 +3
(b) (3,00) z X 2
© (—5.3 S -

(

b 7
(@) (~o0,-3) 043 = myon 4
(e) [3 OO) g, ><>3 —@JMMAA&;

g 3
or x=13 Con wot hove x=%= (3/ Cﬁ)

37. Joe the plumber charges a $70 service fee plus $50 per hour. If the total bill was $220, how many

h did Ed work?
ours di wor Let x be “he mamber o-}-ﬂ hours  Joe worled

Possibilities:
(a) 6 hours Then) Joe’s Bill= Seruree 7[;’ + 50 % wember C37(7 hours Joe worg o/
(b) 4hours  €hatis  Joeis Bi|(= Fo +S0x
(C) 3 hours There ofc 62&0 = Jo + 5—0 ~
(d) 5 hours
(e) 7 hours SEO -F0 = Foisox 10

|50 = sox

158 so.

So

3- X of ‘X:BhOu(_S
‘\
11
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38. The graph of y = f(z) is shown below. Find the domain and range of f.

Yz
6
5
4
3
@Om@fr s 2
)
[75)3l 7 16 |5 -4 00 -1_:) 28 e 5E gy
™, “ //
Nl
4
5
-6
7

Possibilities:

(a) Domain: [—1,1]
Range: [—3, 5]

(b) Domain: [—4, 1]
Range: [—3, 5]

(c) Domain: [—3, 5]
Range: [—4, 1]

(d) Domain: [—3, 5]
Range: [—1, 1]

(e) Domain: [—3,1]
Range: [—4, —1]

t/check €hs f.’r;«# with x= -3

|z +1] ifr < -2 AJote .
r—6 ifzr> -2

39. Let

Tt =2 5o Use “he

irs+ C’L_?_u ction

VE =das g =2Va

12
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41. What quantity, z, of a 55% acid solution must be mixed with a 20% acid solution to produce 800
mL of a 41.875% solution? Soledi on Gmounfs: X+ A = Foo

PossibilitiesC;) @\L\ /0> Acid Gmount s i /.S5x+ ,;03: 0:41%35 x s00
(a) 500 mL|(&’552, @ 20%
NV

(b) 700 mL .
(c) 200 mL O'%ﬁx—oao - S1to
ooml| (@ ¢ FI5y X+0.d06= 335
(d) 600 mL sz 22, O 35x+ °oN: 3¢
(e) 300 mL 035 e 19

% - 135
a S G35
| xx= 5060 m )
42. Find four consecutive integers whose sum is 266.
CS, ¢¢6, C ? and ¢y Sec cork an /UCXLLPO‘S{

43. Find all the solutions of the system of equations. Saluk ons: (40,6 qnd
z — 5y = 10 (25,3)
—x+y?—4dy=-28 Sz work on next Page

44. Find all the solutions of the system of equations, or state that there are no solutions.

_ L3
{7x+6y6 56|LA+|‘JY’\3(3/ E)

8x + 6y =3

45. A corner lot has dimensions 30 yards by 20 yards. The city plans to take a strip of uniform width

- along the two sides bordering the streets to widen these roads. How wide should the strip be if
- the remainder of the lot has an area of 416 square yards? (c¢ "'x" be ¢he wid¢h O7Q ¢ he
Possibilities: *»2?7~ Gniform S p cemoved from
{ the Corner lof.
(a) 30 yards /q\Q/ 3o - er lof. Wote OSxX< 20
. Ve (QO—%\(BO—x\—_ q4(¢
(b) 416 yards // / \ COO-20%-10x + x> = ¢
(c) -396 yards — X - Sox+too = 46
‘ z
(d) 415 yards Ko X o soxtGoo-dlc=49lc-4iL
(e) 418 yards -
X T—=Soxtly4= O
1 (J;J /UO/L)E O)C T}\Q Abouﬁw XZ—QIx—‘-(Cxl—fY“l=O
><—‘+((P=c> ar seme— o X/K—‘O—klc(x—‘-l):o
+< gl -
G E NI i 4 mo
Imf‘)QSS\B‘E x = ("
because T
O <x<ad
13
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Dis+a bute
TloFw gt oy s odr . Simplify
y- 6o 4-3=0 W9y -lo =-€ Ad)2g
s +3 43 J
e -Gy -02F = 2527 Timplfy
L - [ - t
ey ﬂ“ é ﬂ‘ 3 - 3 qa t{¥Y=0O Tactor
Sebrae T X=l0+5(C) X = (0#5(3) -53- Cytlg=0
For | x X = 10*30 X T I0F ([ _fi(‘j_g)—c-(tﬁ—:S):o
K=40 X 25 (41 ) @==0 | dero Product Kule
\\@o,a) £ (a5, 3)
MMH\'?M
Y4l Fxe ot b STk - Cys - g
Tx+lo=3 #* Cx+Cu=23
| J
Elimination meJr\an X 4 OLS: - ANIW |beck |Suhstitute
x ="3

‘_’,a_[/uﬂrror\ One| —p _‘}'(*gj-v’- C\j__é S(M?(q[

Trqu
\nkeger

M SM‘PPOJQ x 15 £he smallest oF €he %Emr Consecutive in+t56rj
whose Sem 15 ¢, Then we have <he e

ot o
Second €hird fobeth E\}-M "
inkeqer intege infege
§<+(><il> +(><i2§ +(><i3> =266 j’m?[ﬂ(—
q)( '['@ 292(;6 Su%%(qdr G
Ix+0 (=266 -C Simplio
Ax=2¢o  Divide

b T
%_ﬂééa Svr‘(\?}v%
C_{

X =G5S
(O"\Segf_uen‘éltj) < he ][our AJoambers e CS_/ G@/Grf‘ end €.

Sl £i
5 X = Su=10 dej—iu_\P
- X "'jl— H&: XY

X = lo 1—5’:(3
SU\DSJHZ‘M\L{oﬂ ME‘\“\(\OQ \L

5Mh5+,{u+a o
Eﬁbcﬁprl)‘/\ fam

~orsy)s oo 4y - -7

€d Solue ﬁf)waréLe(
Eg(uaéfon @of‘(i}
“RL*Cg =6 IMERE

-2 +6 o +20=C 2l 5;@1,@

Solution is (-3, =)
ij;‘,?:). Dr\/xf)ﬁ b«aé
ﬁ@r = ;L_(:L 5 ! m? Mj{i’}
2L+
J e
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46. Which of the following windows is an appropriate viewing window for y = 18z — 3z?

Possibilities:

(@) 5<r<250<y<20

[(®) -10<2<10,-50<y <50 |
(€) —10 <2 <10,-10<y < 10
(d) —30 <z < 15,-100 < y < 250

(e) None of the above windows gives a complete graph.

47. A rectangle has an area of 30 square feet and a diagonal of 5 feet. Which system of equations
would you solve to find the length [ and width w of the rectangle?

Possibilities: Wi g7
lw = 30 v 2
@ { 212 4 2u? = 25 &
20+ 2w = 30 Ates s L= 30
®) 1 2w =5 /|7 ) - 02, L2 5
o¥evaR (Ao : + W=
o {w=30" Ythagorean lheorem
242w =5
lw =30 <
@ { P +w?=25
20w = 30
) { l+w=5
48. Let
8 ifx<-5
flz) =216 if -5 <z <—1
24 ifxr> -1

Find f(—4) + f(0). | Nofe: —S ¢ —d<—1 50]{; sz -4 e se €l second

Possibilities: Qf} tetione 16

(a) 32 nd '

(b) 16 —Note:  O2Z- Sc)//o; x=0 we use ‘the €hird
(C) 24 eﬁua-ﬁ Mo O’ZL(-

(d) 8
@ ”*”E/ﬂfﬂ, 7[/—q} +7[(0) = 6+4= 40
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49. Approximate the solution to ﬁ =—=.

Possibilities:

(@) z ~ —1.2062
(b) x ~ —2.4000
() x ~ —2.8320
(d) z ~ —1.2000

(e) = ~ 0.3846

50. Find all the solutions of the system of equations, or state that there are no solutions.

=0 X <S§y=5
Possibilities: X +oy= 3
(@) x=-17/20,y = —3/5 x=F
| B) e=7.y=6 |
(c) x=4,y=-5
(d)$:17y:—1 Cl,(q'] _3_3: _Q
() z=-2,y=5 XE “So = -a
Ce— = g -1
g 53 2§ = =R -ay
'533—30
1
— N %S/
we b
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